TH1072 (1541

TiN COATED - LONG SHANK TlN: _7—"{ yb D“JQ‘"J'\’.’/Q
; TIN-LT-POT

—F %w b
L =

OX—JDFHAIFP.2ETEIREL,
See page 2 for explanation of icons.

Bfi:mm  Unit:mm »
ﬁEﬁE e e e ﬁﬁﬁa 1B | B 2R UR| TR ma e e E s i
(=0l AN I RS Grade |TAPLt| &c | L | 2 | &n | Ds [Fiutes|%%ere!|Stock|Weight| (Yen) | [SBIANOMMRIEELREEIM Grade |TAPLnt| €c | L | 2 | &n | Ds [Flutes|%erd | stock| Weight| (Yen) HZ T
78810|M 3 x0.5 100) 11] 19] 4 | B | 11| 4510, |78858|M14 x2 |STD|0H4 150| 30| 48/105 | = | 108/12,300 4*%
78813|M 4 x0.7 100 18] 21| & | B | 16| 4220, |78862 M14 x1.5 |STD|OH3 150| 30| 48[105 | = | 110{12,300 T_I' o
78816|M 5 x0.8 |STD|0H2 100| 16| 24| 55 KR 19) 3880, |78865|M16 x2 |STD|0H4 150| 32| 562|125 || 152/13500 s i
78819 M 6 X1 1100 191 29| 6 | & | 24| 3500/ |78869|M16 X15 |STD|OH3 150| 32| 52|125| | — | 162|13500 /fg
78821 150 | & | 40| 5990| |78872|M18 x25 150| 37| 55|14 | = | 188|17,200 ﬁ =
78823 100 ] 28| 4240| |78875|M18 X15 150| 37| 55|14 = 189]17,200
78825 M s T solonz ¥ 150 &5l %) BE 9 | B | 2 40| 7120, |78878|M20 X2.5 = 150| 37| 58|15 8 = 0 219/20,700
78832|M10 X 1.5 150 24| 41| 7 = 52| 8100 |78881|M20 X158 | !0 150| 37| 58|15 = 22120700 RS
78836 |M10 x1.25 150 24| 41| 7 L= 53| 8100| |78885|M22 x25 200| 38| 63|17 | = | 365/27,900 e
78843 |M12 X 1.75 | STD|OH4 150| 29| 48| 85| | — | 75| 9900/ |(78888|M22 X15 200| 38| 63|17 = 61127900 gyl
78847|M12 x1.5 |STD|OH3 150| 29| 48| 85| | — | 75| 9900/ (78891 |M24 x3 200| 45| 66|19 = 453|32,900
78851 |M12 X1.25 STD|0H4 150 29| 48| 85 = 76| 9900) |78894 M24 X1.5 200] 45| 66]19 = 449/32,900
WREXHLEERE -2 v >V EAERTE 0k KIZP.8I0ZE CET &Ly, I Please see page 890 for length of external centre and shank square length fk and width K.
1LIBEEM  B2RODUHSEROL Y THEBETY. (P.7063H) 1. The recommended TAP Limit corresponds to JIS class 2 internal thread
2. 2y TREEBORUBEERIETEHOTEHIE LA, standard. (see page 706)
3. GIEHE. N—ZANEP.868H BB T ALY, 2. TAP Limit does not guarantee thread limit for the internal thread after tapping.

3. Cutting fluid and Paste : Please refer to P.868.

N—CUUeQ7\VAs
S3143S dV1 d3LNIOd IVHIdS

OSGDPS=Y—X

[~ I —
EIIII / J Parts & Supply series
5

BE-BEORIEBICHETITH! =1
N xr O
BOKSIH-HFREOI)—F "
4
e P P.862&BE 2R, é
Please refer P.862 for the details i

- o o = AT IVA 99541 B | = [PV |PIVS (V0L ERER| FH | NiE | B | ATt
e @ TR S| B oo | B R g | B\ cewmiesm @0 | 68 | B Hi0[I0
Low |Medium| High | Alloy Hardened Steel Stainless| Tool | Cast | Cast | Ductie | Copper | Brass | Brass | Bronze [Alminum/{Aluminum|Magnesiun| Zinc |Titanium| Nickel | Thermo | Thermo
Carbon | Carbon | Carbon | Steel Steel | Steel | Steel | lon | Cast Casting Rolled | Alloy | Alloy | Alloy | Alloy | Alloy |Setting | Plastic
Steel | Steel | Steel Iron Casting | Casting | Casting Plastic

C lcozsu| ¢ 25~4545~5550~60
035l taznbass~ SM |Zhre | tme | "hra_| SUS | SKD | sC | FC | FoD | Cu | Bs | BsC | PB | AL |ACADC| MC | ZbC

e Sy 'S & ~ ™ ~ ~ - ~ ~ ~ e —~
Q D), ) ) @ ) ) X/ W) O $ 2 € P O ) @]

O
N
B

A.B.C.D=1Z#7EfM A.B.C.D=Standard stock item.
O=%EEEEER  [J=Stocked by specific distributors. Contact us for price & availability. | 573






